
The five elements of blockchain are distribution, encryption, immutability, 

tokenization and: 

A. Transparency 

B. Authorization 

C. Efficiency 

D. Decentralization 
 

Question 2 of 10 

What can an IT leader use enterprise blockchain for? 

A. Streamline supply chains 

B. Improve financial transactions 

C. Provide identity management 

D. All of the above 
 

Question 3 of 10 

True or false: Smart contracts are legally binding contracts. 

A. True 

B. False 
 

Question 4 of 10 

What are some of the advantages of implementing enterprise blockchain? 

A. Reduce IT costs 

B. Expand B2B and B2C networks 

C. Enable new products 

D. All of the above 
 

Question 5 of 10 

True or false: A user can alter data on a blockchain. 

A. True 



B. False 
 

Question 6 of 10 

What feature about enterprise blockchain is accurate? 

A. Is relatively inexpensive 

B. Has trust problems 

C. Requires no change management 

D. Is energy-efficient 
 

Question 7 of 10 

What is one of the challenges of permissioned, also known as private or 

enterprise, blockchain? 

A. Speed 

B. Auditability 

C. Security 

D. Access control 
 

Question 8 of 10 

What areas of cybersecurity does blockchain have the potential to improve? 

A. Building security 

B. Payment history 

C. Password complexity 

D. Resilience 

 


